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Read the following text and answer the questions pertaining to it:

Fluorine content readily adjustable Mild Green Tuneable fluoropolymer scaffold

up to 59 wt% F
AR ))) !;

+ 1 R R~
RFRFR F > 2 z ~
55! PrLtrrEy
1) n

FFFFFF
1 R
z
FF |x

processability and facile sumco modification Photo cross-linkable
Fluoropolymers have infiltrated society as coatings and insulators. However, low processability, few
opportunities for polymer functionalization, and explosive monomers hampering academic
investigation of these materials have precluded the extension of the unique properties of
perfluorocarbons to the cutting edge of material science. Here, we present semifluorinated iodo—
ene polymers as a scaffold to overcome fluoropolymer limitations. A sodium dithionate initiated
polymerization of perfluorodiiodides and dienes allows for high-molecular-weight polymers (>100
kDa) to be prepared in the presence of oxygen and water with up to 59 wt % fluorine content. These
conditions are sufficiently mild to enable the polymerization of functional dienes, leading to
biodegradable fluoropolymers. The iodo—ene polymerization results in the addition of polarizable
iodine atoms, which improve polymer processability; yet, these atoms can be removed after
processing for enhanced stability. Displacement of the iodine atoms with thiols or azides facilitates
covalent surface modification and cross-linking. Finally, the low bond dissociation energy of the C-I
bond allows allyl group addition as well as photo-cross-linking. Collectively, the simple synthesis and
modular nature of the semifluorinated iodo—ene polymers will enable the convergence of
perfluorocarbons and advanced materials. (Modular and Processable Fluoropolymers prepared via a
Safe, Mild lodo-Ene Polymerisation. J.A.Jaye, E.M.Sletten, ACS Cent. Sci. 2019, 5, 982-991) 68. Which statement accurately describes the expression “tunable fluoropolymer scaffold”?
67. Why the synthesis of semifluorinated polymers is called green (see the scheme)? A. It has a high molecular weight.
A. Because the products obtained are green-colored.

61; ‘ku lod‘.su, Greprn = mililvtvmli,-

68 - Ded e Honoble" foré det v fusrno
pe + {lo(ﬁlall\y et »fw ¢ '7‘ e

modvler beclbomn eller Ph.vl-. cross-timelle s

Z

B. It has the fluorine content up to 59 wt %.

B. Because the product obtained has the molecular weight > 100 kDa. ) i
C. It can split off HI when treated by various bases.

Because the polymerization can be carried out in the presence of water and oxygen.
Because it is a catalytic process (with sodium dithionate). D. It can be cross-linked under influence of light.

E. Because the product obtained has a fluorine content up to 59 wt %. @ Answers C. and D. are correct.



65. Indicate the type of compound responsible for the fragrances presented below:

(o) H Hoste PE b Lurbonk slel van
O Sobyd  wad hégseg\ s::m.rr._.
Spesifiseres,
=
O\
Hom er Jelley her 7
A. Ketones
B. Thiols

C. Carboxylic acids

@ Aldehydes

E. Esters



66. The omega-reference system of naming fatty acids (carboxylic acid characteristic for fats)

indicates the number of carbons, the number of double bonds, and the position of the double bond
closest to the omega carbon (the carbon in terminal methyl group), counting from the omega
carbon. Omega—9 fatty acids are polyunsaturated fatty acids characterized by the presence of a

double bond, nine atoms away from the terminal methyl group.
(https:/library.med.utah.edu/NetBiochem/FattyAcids/4_1c.html)

Oﬂr\—b&a—l/u-rlaam.(. er 7004-‘ Larbo i
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Choose from the following the correct answer were all listed acids belong to the class of

Omega—9:
H
\/ 1 . s 1 ,i,b\,C=C/ -
TX a2 h T
. —_— = COOH
3 ANSSTANACO0H
H\
J 4 '/\/\/\/:3=C:H\/\/\/\coo_
= —_— COOH
/ 2 1\./1\/f\/'\/‘i=\/\/\/\/cOOH
T “ B I3
A. only2
.1and6 -H(r hwr v 3 oqu«-"l #“:(rtf,
3and 5 e wlhnebvoa @ det won B
C. 3 an Sove WUV inchulde oo ) fersyer
D. 2,4 and 5

E. 1,3and4

67. Cis/trans geometric isomers are molecules that are locked into their spatial positions with respect
to one another by a double bond or a ring structure. They have the same structure but a different
spatial arrangement of atoms as presented in the example.

HaC, CH, HsC H
H H H CH,

cis isomer trans isomer

The fatty acids no. 1 and 4 from the previous question represent the following geometry, respectively:

A. 1—trans, 4 —cis

. 1 —cis, 4 — trans

C. 1and4—trans
D. land4—cis

E. Neither cis nor trans for 1 and 4

G5 or sommc side, doms e mokseht (1)
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Questions 46 — 47 refer to the following additional information: 46. Indicate the correct notation of the electron configuration of the Ag atom in ascending order of

orbital energies:
The electrons in an atom are arranged in shells that surround the nucleus. Each shell has a different g
energy level, increasing the further it is from the nucleus. Each energy level is given a number- A. 1522522p83s23p63d!04s24p©4d!105s!
principal quantum number, n. Because n describes the most probable distance of the electrons from the - u s dor 2d
e
nucleus, the larger the number 7 is, the farther the electron is from the nucleus, the larger the size of B. 1s22522p63s23p©3d!%4sX4p®Ss24d® s '(7 f"
the orbital, and the larger the atom is. = \}: {,; P ‘WJ"“ in}a{wm,'vh
15%2522p®3s23p®4s?3d!%4p®5s?4d° - Itrtlrtb
Within the shells, electrons are further grouped into subshells (orbitals) of four different types, @ B e P RN %9 qd, wwn du ettt
identified as s, p, d, and f in order of increasing energy. K 1522522p63s23p 3\ %4 4pt4d®Ss? etknovn ale  albsneder Turuh'/\
There are n” subshells for each energy level. For n=1, there is 1% or one orbital. For n = 2, there are S iy Ein Binc B 4D B A A 1D € her 3 ‘f" Us,
22 or four orbitals. All orbitals that have the same value of n are said to be in the same shell (level). E. 1s°2s°2p®3s°3p°3d'%4s*4p®4d

To calculate the maximum number of electrons in each shell, the formula 2n? can be used (Dan
Berger Re: Why do electron shells have set limits ? madsci.org, 17 March 1999). Each electron
subshell can contain a certain amount of electrons, s =2, p =6, d = 10 and f = 14. Electrons fill the
shell and subshell levels in a semi-regular process. After filling the first shell level (with only an s
subshell), electrons move into the second-level s subshell and then into the p subshell before starting
on another shell level. Because of its lower energy state, the 4s orbital fills before the 3d
(Encyclopaedia Brittanica). A. 30 -~ Akl prbny
Alovnuvaruad :“ A’J = ‘ﬁ

B. 47 Morens for Ay = 10% 68

B ety e
23 10%.86f - 43 % 60161 » 6l
¢
3} Na D. 10
1

1

47. Indicate the correct number of neutrons in Ag atom:

7

E. 108
Electron configuration of Kr 1s? 252 2p° 3s2 3p°® 3d!° 4s? 4p°.

Atoms are composed of particles called protons, electrons, and neutrons. Protons carry a positive
electrical charge, electrons carry a negative electrical charge, and neutrons carry no electrical charge.
The atom is electrically neutral and the vast majority of its mass is concentrated in its nucleus
(Kaznowski and Pazdro “Chemistry”).



The following text and pictures 1 and 2 refer to questions 75 through 78

Picture 1 below shows the select formulas, names, and three-letter abbreviations of amino acids that

can be present in human proteins. https://www.britannica.com/science/amino-acid

HN—0—COOH ,N—C—COOH HN—g—COOH u,N—i—coou
CH, H—(—cH, o H,
alanine cH, H—C—CH, H
(Als,A) | .
valine cu, serine
(val,v) (Ser,§)
leucine
(Leu, L)
u
u H H |
| | | Hy;N—C—COOH
HN——COOH HN—g—Co0H H;N—C—COOH
| CH,
H—G—CE, o ]
<
glycine 1 cH, AN
@ly.G) N I o
cH, s
I asparagine
isoleucine cn, Asn,
(e, 1)
methionine
Met, M)
u " "
| LN H
HN—(—COOH HiN—g—Co0H N—C—COOH |
ik Y HiN—g—Co0H
i M g N H—C—OH
= NN i (l“‘
/c—c\’ I proline
C. C. (Pro,P) theoine
N 72 o \T/ Su an imino acid (e, T)
\—d
/ % H
H H
phenylalanine
tryptophan (Phe, F)
(Try or Trp, W)

Picture 1. Amino acids formulas and names.

H
H;N—C—COOH
n,

n

cysteine
(CysH,C)

H;N—C—COOH

CH,

aspartic acid
(Asp. D. Asx or B)

HN—C—COOH

histidine
(His, H)

H
|
g —C00H
cH,
|
CH,
|
C
P
oH
elutamic
GO

H.N—C—COOH

At the turn of the twentieth century, a German chemist Emil Fischer was the first to propose the linking
together of amino acids, which he called the peptide bond. They can be linked by a condensation
reaction in which an -OH is lost from the carboxyl group of one amino acid along with a hydrogen from
the amino group of a second amino acid, formlng a molecule with an amide bond: -COHN-.

W ‘u’
(& CH2 N C CH>
W N N Ny
R4 h
X
(:.\lwctv\t ¢ phee band

Picture 2. Polypeptide formula.

P
N C
N \(I-“/ X
0 (CH2)3
‘TH
¢
N
NH> \,\'H
Z

e chuin o Orgint

75. How many peptide bonds are present in the polypeptide fragment in Picture 2?

O

A

B.

C.
@

E.

u A WN R

76. The Z frame from the Picture 2 is:

A. Alanine

B. Cysteine

C. Polypeptide bond
D. Glycine

@ Side chain of arginine

77. Indicate which of the following amino acids have an aromatic side chain

A. Tyrosine

B. Phenylalanine and Tryptophan
C. Valine and Leucine

D. Histidine

@ Both Aand B
u

. unSodurehd chumice]  compounds chwrmhnzed
by o o v plenes fings of sk puind by

Gvelnb bonds of Awd diffnt wiads |

o O

/iy / Rivy
/ Unsehuretid X Unsehureted .
vl LN-lcu} !mnb of A P E‘NR”:I:G:MJ) of

78. Choose the CORRECT tripeptide sequence:

P
I N
|
(dbindiny { - —
N z ll(\
i i
. v c
H;N‘—‘-CHZJ,—C—NH—‘CH—YC—NHJ-CH§—COO
y

. GIy -Phe -Cys ’_/

Glu - Tyr — Met
C. Cys—Phe-Gly
D. Ala-Tyr—Cys

E. Gly - Phe —Met



77. Below, various Newman projections along C*-C? bond of 1-bromo-1-chloro-2-methylpropane are

cu
presented. Which of them depict the same stereoisomer?(Remember that in Newman projection ’\ Ve b
3 substituents at C* are shown in front of the circle, and 3 substituents at C2 are shown behind s o C ﬁ € -
the circle. The free rotation along C-C bond is possible and is well depicted by this projection). vz

/ w0\
Spinn vyt
H cl B Br Br o st
H @ CH, HsC @ CH; HsC @ H HsC @: CHj H z@\/CH\%
Cl Br H I Br H Cl Cl I H H I Cl
H H CH,

i b,

1. 2. 3. 4. 5.
77 78. Which of them depict enantiomers?
A. 1.and 3. 1.and 2. "
B. 1l.and 2. B. 2.and4. Lherer de hodel  wite.
C- Z.and 4 C 1. and 3 Be Y] cl e 5“‘"‘”‘””1 e\bse @&
D. 1.and 5 D. 1l.and5. 1ay 1 emonbomor
( E.) Answers A., C., and D. are correct. E.  None
4 rt +
Lagd o
ok de, 0oy s ok 1 % g '7' H cHs H cHs
1oy € o bt tw b v oowmn  Wonflgurespn ~
IW\#S kerbone i,
¢l ) Gr Be | c\
[ cHl

-
»



Types of organic reactions

o O O

SUBSTITUTION ADDITION ELIMINATION

nucleophilic nucleophilic
electrophilic electrophilic
free radical

Carbocation is the characteristic chemical entity occurring during the reaction with electrophilic
mechanism. It has the positive charge present on one of the carbons of the reacting compound. The
characteristic chemical entity taking part in the reaction with nucleophilic mechanism is called
nucleophile — a molecule or group in which there is an excess of electrons acting as a donor [e.g., OH,
F-, CHsS", (CH3)3N:]. Free radicals created in the presence of light (hv) are characteristic for substitution
with free radical mechanism (e.g., ®Br, ®CH3-CH3). The reaction type specific for the arenes is
substitution (electrophilic), the one specific for the alkynes and alkenes is addition, while for the alkanes
it is substitution (radical).

68. The chemical entity in the frame is a(n):

I I
H—CI:—H + Cl¢ —» H_(n:. + H-Cl
H H
1 hv ’:‘
H—(I:' + CI-Cl —» H—(':—CI + Clh
H H
A. nucleophile Udele clotomaper wad dutws wggois an
radical Ko gt vpurtk ellsbon, Ujemnbyss oo @
C. carbocation ¢
D. carbanion ¢
E. electrophile - mieic sl ed dis gl b

69. Name the mechanism of the addition reaction presented below:
H H o Gteets i

) HBr H H IBr H H
C=C e WM —» H—C—CH
H H H H Br
@ electrophilic
B. nucleophilic
C. free radical
D. El
E. E2

70. Which of the compounds will undergo the addition reaction?

A. TandV
@ Tand IV Her dobbeli= el dpplbindings Son i oripsn:
C. Iland III

D. IandV
E. LIIandIV  Benzest giar il dod, i det e o sbin,

H addigjra.
Lo Subskiusjomnabojine a7 iy, om0 +4



Wi e

64. Name the mechanism of the substitution reaction presented below:

HyC (lle /CH3
— ho~ + C—Br —=| HO-CoeBr | ——=  HO—C
HH HH H
A. electrophilic
. nucleophilic
C. free radical
D. E1
E. E2

65. The chemical entity in the frame is called:

\__/  HBr ! Br H H
"’,C*Q_\ - H—C—C’:'/H ——» H—C—C—H
H H H H Br

A. nucleophile

B. radical

@ carbocation €L Werbon Sovn @& eb lebion.
D. carbanion

E. AandD correct

Br



The following information refers to questions 56 through 58

The bicarbonate buffer system is an acid-base mechanism that involves the balance of bicarbonate ions
(HCO3), carbon dioxide (CO,) and carbonic acid (H,COs3) to maintain blood pH, homeostasis (the
state of steady internal, physical, and chemical conditions maintained by living systems), and proper
metabolic function (doi:10.1002/jps.24108, https://www.worldcat.org/title/anatomy-and-
physiology/oclc/1001472383 ).

Reactions of bicarbonate buffer system catalyzed by carbonic anhydrase are:
CO2+ H20= H,CO3=H"+HCO3
Simple acid-base disorders are divided into acidosis or alkalosis, as well as metabolic or respiratory
disorders. They are classified as metabolic if the change in pH is primarily due to an alteration in serum
bicarbonate (HCO3—). They are classified as respiratory if the change is primarily due to a change in
pCO:, (increase or decrease in ventilation). The graph below presents the values of pH, (HCO;—) and
pCO: that allow to determine the appropriate type of simple acid-base disorder.

’ Arterial blood sample |

3 \
/ \
pH <740 pH > 740
/
» “
st 3 4 S~

[HCO, ] < 24 mEg/lL Pco_ > 40 mmHg [HCO, | > 24 mEg/L Pco, <>;1C‘ mm Hg

! +

( Metabolic acdosis )  (Respratory acidosss)  ((Metabolc alkalosis ) (Respeatory alkalosis)

Figure 37.8. Classification, characteristics of sim

R. M. Berne, M. N. Levy, Principles of physiology, 3rd ed

Water, Electrolytes
nEssentals of Med

and Acid-Base Balance NV. Bhagavan Chung-Eun Ma

t)
R

56. Analyze the picture and decide which answer is true for acid base homeostasis in arterial blood
sample (where pH is at physiological range and the components of bicarbonate buffer are in the
proper concentrations)

A&. pH7.2; [HCO;7] =24 mEq/L, pCO, = 50 mm Hg z sty o= PYrv o T 24

AB. pH7.5; [HCO;™] = 40 mEq/L, pCO2 = 40 mm Hg

© pH 7.4; [HCO;37] =24 mEqg/L, pCO, =40 mm Hg Tawws srrir )

1 pH 7.3 [HCO;]=24 mEq/L, pCO,=40mmHg — .« —
E. pH7.4;[HCO57]=40mEq/L, pCO> =60 mm Hg eiuy pH. vm pil +0 elis

57. Determine the metabolic disorder with the given set of parameters in arterial blood sample pH
7.55; [HCO37] =24 mEq/L, pCO; =28 mm Hg
/' K. metabolic acidosis
B. metabolic alkalosis wuwt woms. Has®
& respiratory acidosis
respiratory alkalosis
¥ mixed disorder where all parameters are not within the range B er iwwn provsint

58. Bronsted-Lowry theory called a proton theory of acids and bases states that any compound that
can transfer a proton to any other compound is an acid, and the compound that accepts the proton
is a base. A proton is a nuclear particle with a unit positive electrical charge; it is represented by
the symbol H* because it constitutes the nucleus of a hydrogen atom
(https://www.britannica.com/science/Bronsted-Lowry-theory).

Determine the role of the bicarbonate buffer system components in terms of the Brensted-Lowry
theory.

A. H,O is a base and H+ is an acid

B. CO: is a base and HCO3"is an acid
HCOj"is a base and H2COs is an acid

D. H;Ois a base, and CO; an acid.

E. All of the above are possible

s 638 3
—_ + H0
(O + 4,0 == % —= Hws B
2634 Ved g > 631wl Heos™
e b 5
s o bew ved pH 34,
Eysctogsn pi~ 34
b v don B

prilonss 3y ¥ 8 3prte



The following information refers to the questions no. 72 - 74

The reaction equations below present amide, ester, and thioester formation, where R and R’ stand for the

hosen aliphatic/aromatic side chain. . 3
SRR FISRRAESES " ql (OL‘ er n D Som Ofr V“""‘J| PR R
2 fecngtr bide e 0% geqre QO o0 r""""‘/:*::’"‘;“”“"“
' : i Homde .
i H\N/R Amide formation R)kN/R- lotaliswt ved siden o ol Lerbon wed o O dobbel
+ | -
R™ “OH H -H,0 rli
Ester formati o} ‘ a Uersaayby o (€2,)
j\ B o PR I Vi e e prmarctishd (-o¥) 2y en terhey
R OH -H,0 R O—R' +' i lgt en e
o Co Ale dn Lombinesjonan "-"'v’"““- bom detrchise
o) rmdvm w ek,
)J\ + HS—R' Thioester formation
R OH —— R )
-H,0 S—R

An amide and ester bond can be broken by addition of H,0. The process is called hydrolysis.

The following compounds are given:

CH,OH
©/ CoHs——SH HZN/\/OH Hj\OH 73. Indicate the formula of the thioester created in the reaction of ethanethiol and succinic acid?
Ethanethiol Ethanolamine Methanoic acid A. GHaCO-0-CHs
Phenylmethanol i @ HOOC-C;H4CO-S-CoHs
C. C;HsCO-S-CsH
0 OH NH, o 2115 4114 o . R .l
\/\)J\H OH OH D. CeO4H12S B et on s HS-e-C - __.ry HOsemcoe-cas-coce
E. HOOC-C4HeCO-SH !
[e] Weo
Pentanal Succinic acid Aniline Benzoic acid

. In an ester formation process, the following compounds may theoretically create a product:

72. Which pair of the compounds will theoretically create an amide bond? phenylmethanol and succinic acid

A. There is no such pair of compounds that will create an amide bond.
B. pentanal and aniline
C. pentanal and ethanolamine
@ methanoic acid and aniline
E. Band D are correct

phenylmethanol and benzoic acid
ethanolamine and methanoic acid
B and C are correct

A, B and C are correct

@oow >y



mp%es‘PAzENtbz OTrGAVE



49. 0.45% sodium chloride for injection contains 4.5 NaCl g/L; 1 g = 1000 mg and 1L = 1000 mL
Choose the correct answer: -

A. 0.5% sodium chloride injection contains 0.45 NaCl g/L

B. 1% sodium chloride injection contains 1 NaCl mg/L

C. 0.5% sodium chloride injection contains 0.45 NaCl g/L
0.9% sodium chloride injection contains 9 NaCl mg/mL

E. 0.9% sodium chloride injection contains 0.9 NaCl g/L

_—'—-‘D O % Nec| = i

1000 LooD

H* Vel o tau . Seva wlm(—ff( WALA -':ur‘/LoUdJcJLO{-

P 1/1an er det  scunns ,,A,f bede 9/’ 2y Myl



54. Mepivacaine is a local anesthetic used in medical treatment. The range of its action depends on
the concentration of the solution used. Its solutions act as follows:
e 0.5% - anesthesia of small surface sensory nerves;

e 1% - blocking conduction in sensory and sympathetic nerves;
e 1.5% - complete anesthesia and partial tracheal block in nerve cell motions;
e 2% - complete block in nerve cell movements.

Source: https://bazalekow.mp.pl/leki/doctor subst.html?id=541

You have 0.5 ml of Mepivacaine solution that completely blocks cell movements, but you need to
anesthetize only the small surface sensory nerves. How many ml of sterile injectable water should
be added to your Mepivacaine solution to obtain the proper concentration?

A. 0.25ml

B. 0.5ml 0. mL wud 276 hovundraon.

C 1ml Vi sl .S Y6 Uawantrdion,

‘ 1.5ml _ 2oL

E. 2ml rS PR X 2 wmb = 0.5 mtL

- 0.5 WL 1%
1%

-
“

[z
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60. Balance the chemical equation and calculate how many grams of NaCl will be obtained if 40g of Na,SO4
had reacted.

Na,SO4 + BaCl,->2NaCl + BaSOa _ Lolor®
ferdy
A. 16.8g
N $0, + 2Datly — & Nl = Des
33g & 27
L Na ¢
C. 24g oW
D. 12 “ o
g 1 Be. 1
E. 58.5g 1 od

MV‘\ H |'~lL.0‘1
M"\t"o‘l J/M‘
" Ne S99 ° t{o_‘? = 0.281 wol
NI,O‘(J/‘,-.\
Men Nocl = 5644 j/ml

hNt\L( :(0.7-‘7- il - Sg.44 ;/,74])-7- = d296 9 % 3_.\2)



48. Every chemical equation adheres to the law of conservation of mass, which states that matter
cannot be created or destroyed. Therefore, there must be the same number of atoms of each
element on each side of a chemical equation (Boundless Chemistry Steve Lower’s Website).
Substances react with each other in a strictly defined quantitative ratio, thus to balance an
equation, it is necessary that there are the same number of atoms on the left side of the equation as
on the right. In a balanced reaction, both sides of the equation have the same number of elements.
The stoichiometric coefficient is the number written in front of atoms, ions, and molecules in a
chemical reaction to balance the number of each element on both the reactant and product sides of
the equation (Joseph Nijmeh, Mark Tye Chemistry LibreText).

Balance the chemical equation and calculate how many grams of AI(NO-)3 will be obtained if 40g
of Al203 had reacted:

Al,03 + HNO,; — AI(NO»); + H,O

M = 10196 3ffy = Tor 8fn
A. 110.5g 1,05
Magey 2 W)
No 4+ 3 HLD A0 = B o
B. 64.73g ALO, = ¢ HNd, -© 1 Al( 1)3 | Ao ikt
C. 188g 1o Dalewe for Al ¥ , For e M0y vi frbuker for vi 2 Al(N3,),
v: Selowne for N * A‘ ,
3o Gulewsw fr W 290 po theo v & 0 r Sz ' 0.30 - & 5 O.3¢ mal
D. 40g " u z 6 Mgy (aag)y = 1O 3k 65 9.0
¢ % N 3 4 N p(wa), = A6 g c O oA = WES
E 12167g * Fost sice € o duy

Dek or aurmrd ded sk o
fer.

LD Grben ful ¢ forid,
eller onblts onn ok
Fllisjoman labe 3¢ 7idd
4 o 7.
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Which conclusions are true based on the statements below?
\ Statements:
Some stones aren’t pink.

Some pink things are big.
All big things aren’t heavy.

95. All pink things are heavy.
96. Some stones might not be heavy.

97. Some pink things are stones.
98. All big things are stones.
99. Some heavy things might be pink.

True
True
True
True
True

False
False
False
False
False *

)
Tledan Lojbw. sloningers

ved € ze hwilue populediont

b King 30w vUlapper rednts

5 Ferthon ster 99 oAby, o < Jewly L

B 5t e an ok (oseingsfinsley oan
b b v b pude seer)



92. Sally rides a bike from her apartment to the office, and every morning she visits her
favourite café on the way. To get to the café, she rides two hundred meters to the south and
then turns left and continues for 300 m. After a short coffee break, she rides 100 m to the
north, turns right, and in 100 m she turns left. In 100 m, she turns left again and walks for
100 m. Her office is straight ahead. In which direction relative to Sally’s apartment is her

office located?

East
. West
C. South
D. South-East
E. South-West

93. If all Spaniards are slim and some rich people are Spanish, then which of the statements is
always true?
A. There is no slim person who is not Spanish.
B. All Spaniards are rich.
Some rich people are slim.
D. All slim people are rich.
E. Some Spaniards are rich but not slim.

SPAUIAZDS

100. Five years ago, Mark was five times older than his son. In one year from now, his age
will be equal to three times that of his son. How old is Mark?

A 12
B. 28 ;;“U: nevner e g
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D) 35 .
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